EgTALlFF

Clamps - Standard Series
DIMENSIONS - COMPONENTS according to DIN 3015, Part 1

(for O.D. 6 to 102 mm)

EQTAQFF

Clamps - Standard Series
DIMENSIONS - COMPONENTS according to DIN 3015, Part 1

NEXT PAGE »

(for O.D. 6 to 102 mm)

Material & Surface Clamp Body Single Elongated CHANNEL RAIL TWIN GROUP COVER HEX
Finishing of Metal consisting of two Weld Plate Weld Plate ADAPTOR WELD PLATE WELD PLATE PLATE BOLT
Parts clamp halves SP SPV CRA DSP RAP DP AS
- - —
b teel St37 L1 N suitable for several L | =3 Q> - oD
carbon stee , W1 00} = types of channel rails, E A a :K' 1 ]
untreated ‘ S see page C10 ol | & ol = ol ;;IL
(&>} - [Vl —l o p
T _] Q I8 | (=] N — = 7 ¢ I 7Y
carbon steel St37, w2 ) . S S - i o | @ - e I S B Nl @ | O
phosphated I — N I L @ = I 1 |
L -I ] q N 2 ; & - oy L2
carbon steel St37, w3 10 L9 o Bl = . N H S B
zinc plated Group 1 H| .S B H S B Group 1 L1
Group 1 Group 1 Group 1 _E_r_ A Group 1
stainless steel A2 - g '
1.4301/1.4305 w4 N ) =
=) ‘E" —t AN
(AISI304) A\ N5
<o/; (4] A q}_i
— 1 N
stainless steel A4 - . (3] Al o - Er @
W5 T T - 3 N4 ™ oD
1.4401/1.4571 1 N £ 7 3| A »
(AISI316/316Ti) n H N\ | | - &t ©r 1 ‘
AN| O — — — 1
o RS ) R | | ‘E“" @ L
Alternative materials and = ]| R P a o= . aom
surface finishings in addition < \Jj ol 2 —t SRS -
X 7NN T A t
to the qbove stated standard L2 3 \am e il A S & ]
are available upon request. — & . L2 3
2 - — |
HLS |.B S|.8B ] hols [LB M| LS B Bt G
Group 1A -8 Group 1A -8 Group 1A -8 Group 1A -6 Group 1A -6 Group 1A -8
Material & Surface SEE COMPONENT
Finishing Code PART IDENTIFICATION w2 w2 w3 w2 w1 wa w3
Inside Surface
OUTSIDE DIAMETER oroflcd. Temcot
ig 5 PIPE IN MM profiled Ml{Smool) L | B |Hl |H2|L1|L2[L38|B|S |H oD | L1|L2|L3| B | S [H op|L1|L2|B|sS |@D| GxL
22 >0 L1 | L2 | H S H |Width|L1|[L2| B[S |H oD|L1|L2|L3|B|S|H oD1|0D2) G G G
'50 Eg oD1 mm_~[mm_~[mm_~mm_~|mm_—~[mm mm~mm_~mm~Imm~m G [ ~Imm~mm~mn~mm.~mm.~|m G < Im mm mm mm_~[mm mm_~|mm_~|mm_~|mm_~|mm_~|mm mm_~Imm_~mm_~|mm_~|mm_~|mm , mm~ImmATmm~|mm.- m mm
n in in in in in in in in in in n in n in in n in in n| in in in in in in in in in in in in in in in in in in n)| in in n n in
28 95 /27 04 /|26 30 31,5/[10 /30 /|3 6,5 6 12 /58 /e45//44 /30 /3 /16,5 V6 12 /16,5 40 16 13 205 [87 40 /l40 /o /i3 6,5 12 /314 /|31 31 30 4 6,5 12 /28 /95 /B0 f3 /|7 M6 x 30
min. g d
6to 12 mm 1/4- 1/4- 1/4- 1/4-
1 0 1/4'" to 1/2" 20 20 20UNC 20UNC 14
UNC UNC M6 M6 20UNC x
1.10/ 037/ 1.06// 0.02/ 1.02)/ 1.18|/1.24|/0.39|/1.18|/0.12(/0.26| 0.47|/2.28//0.96|/1.73//1.18//0.12//0.26 .47)/0.26 343|/ 1.57|/ 1.57|/ 1.18|/ 0.12|/ 0.26] 0.47|/12.36|/ 1.22|/ 1.22|/ 1.18|/ 0.16// 0.26 0.47)/1.10/ 0.37|/1.18)/ 0.12|/ 0.28] 1-1/4
37 20 27 0,4 26 30 36 /20 /30 /3 6,5 - 12 20 /50 /30 /3 6,5 M6 12 /6,5 77 20 37 30 3 6,5 12 /373 20 /|37 /30 /|4 6,5 12 34 /20 /30 /8 /|7 M6 x 30
min. 8 A
6to 12 mm 1/4- 1/4- 1/4- 1/4-
1A 1 1/4" to 1/2" 20 20 20UNC 20UNC 14
UNC UNC M6 o 20UNC x
1.46|/ 0.79|/ 1.06// 0.02/ 1.02|/ 1.18//1.41//0.79|/1.18//0.12//0.26 0.47|/2.52(/0.79//1.97|/1.18//0.12//0.26 .47|/0.26 3.03|/ 0.79)/ 1.46|/ 1.18|/ 0.12|/ 0.26] 0.47//14.69|/ 0.79|/ 1.46)/ 1.18|/ 0.16//0.26| 0.47|/1.34|/ 0.79|/ 1.18/ 0.12|/ 0.28| 1-1/4
42 /o6 /33 /o6 /32 /30 /l42 /26 /30 /3 /|65 V6 12 /70 o6 /56 30 /3 /65 V6 12 65 86 /o6 Mo Jso 3 Jes 12 fas2 /o6 faa oo 4 Jes 12 faosfee /oo 8 7 [mex3s
min. s 2
1/4- 1/4- 1/4- 1/4-
2 2 112 /'7}‘1; g P 20 20 20UNC 20UNC
UNC UNC M6 M6 1/4-
20UNC x
1.65// 1.02/ 1.30[/ 0.02// 1.26|/ 1.18|/1.65|/1.02|/1.18//0.12|/0.26| 0.47(/2.76|/1.02//2.20|/1.18}/0.12//0.26| 0.47//0.26| 3.39|/ 1.02|/ 1.73)/ 1.18|/ 0.12|/ 0.26| 0.47|/17.40// 1.02|/ 1.73|/ 1.18)/ 0.16|/ 0.26 0.47(/1.59|/ 1.02|/ 1.18|/ 0.12}/ 0.28] 1-3/8
50 /83 /36 /o6 /355 /|30 /|50 30 /3 /65 12 /78 /33 /|64 /30 [3 /65 12 16,5 102 /33 fs2 /30 /3 /65 12 /521 /33 /|52 /so /4 /65 12 Jas /B3 /B0 /3 /7 /Mex40
min. Me, e, 1/4-
3 3 19 to 25,4 mm 1/4- 1/4- 1/4- 1/4-
3/4" to 1" 20 20 >0UNG 20UNC 20UNC 1/4-
UNC| UNC Me M6 20UNC x
1.97// 1.30|/ 1.42/ 0.02/ 1.40// 1.18)/1.97|/1.30|/1.18//0.12//0.26 0.47//3.07|/1.30//2.52|/1.18//0.12//0.26 0.47|/0.26| M6 4.02|/ 1.30|/ 2.05|/ 1.18|/ 0.12|/ 0.26 0.47|/20.51|/ 1.30|/ 2.05|/ 1.18|/ 0.16|/0.26 0.47(/1.89)/ 1.30|/1.18|/0.12|/ 0.28 1-1/2
59 /40 /42 /06 /415 /30 /60 /40 /30 /3 /65 V6 12 /|87 /40 /73 /30 /3~ /|65 V6 12 /65 120 /40 /60 /30 /3 /65 12 /300 /40 /|60 /30 /4 /|65 12 J57 Jla0 /|30 /13 /|7 /[M6x45
min. , 2
26,9 to 30 mm 1/4- 1/4- 1/4- 1/4-
4 4 1-1/16" to 1-3/16" 20 20 20UNC 20UNC 14
UNC UNG M6 M6 20UNC x
2.32|/ 1.57|/ 1.65|/ 0.02/ 1.63/ 1.18|/2.36|/1.57|/1.18//0.12|/0.26| 0.47|/3.43//1.57|/2.87|/1.18//0.12//0.26 0.47//0.26 4.72|/ 157/ 236/ 1.18// 0.12|/ 0.26 0.47|/11.81|/ 1.57|/ 2.36|/ 1.18|/ 0.16//0.26| 0.47|/2.24// 1.57|/1.18|/0.12|/ 0.28 1-7/8
71 152 58 0,8 mn. /(56,5 30 71 52 30 3 6,5 M6, |12 100 /|52 86 130 3 6,5 M8, [12 6,5 145 52 75 30 3 6,5 1/4- 12 378 52 75 30 4 6,5 1/4- [12 70 /|52 130 3 7 M6 x 60
5 5 321042 mm T 8 20UNC 20UNC .
1-1/4" to 1-5/8 280 /" 205 / 228/ 003 / 229/ 1.8 /20| /2.05| /1.18] /0.12] /0.26| UNC | /0.47] /394|205 /3:39| /1.18| /0.12] /0.26| UNC | 0.47| /0.26] 571|205 /295 /118| /0.142|/026| M6 |/047| A4ss|/ 205|295 /1.18| /0.16|/026| Me |/047|/276|/ 205|118 b.12] f0.28 238
86 /o6 /66 /o8~ /645 /|30 /|88 /le6 /30 /|3 /65 V6 12 /115 /66 /100 30 /3 /65 VG 12 5 178 /66 /90 /30 /3 /65 12 /450 /6 /9o /o /|4 /b5 12 fes o6 /30 3 /7 /mex70
44,5 t0 50,8 mm 174 1/4- 14 1/4-
6 6 1-3/4" to 2" 20 20 20UNC 20UNC 1/a-
UNC UNG M6 M6 20UNC x
3.39)/ 2.60// 260,/ 0.03// 2.53|/ 1.18|/3.46//2.60|/1.18//0.12//0.26| 0.47|/4.53|/2.60//3.94//1.18|/0.12//0.26 0.47)/0.26 7.01|/ 260|/ 354|/ 1.8/ 0.12|/ 0.26| 047|/17.72|/ 2.60)/ 354/ 1.18|/ 0.16//0.26] 0.47|/3.39|/ 2.60//1.18|/ 0.12}/ 0.28 2-3/4
121 /o4 /93 /08w /2 /Js0 122 /o4 /B0 /5 /65 /[ e [12 /150 /lsd /fis6 /lso /5 /65 /e, 12 /g5 118 /o4 /j30 /5 /|7 /|M6x100
7 7 57,2 to 76,1 mm 1/4 %» . . 1/4-
2-1/4" to 3" 476/ 370/ 366/ 003 / 362/ 1.18|/480| /370 /1.18| /020 /026 UNG |, /04| /591| /3:70],/5:35 /1.18] /0.20] /0.26] UNG | f0.47] /026 /4.65/3.70,/1.18|/0.20/0.28 ey
88,9to0 102 mm [147_~T120_~[118_~"o8~ 7116 ~J30 148 /120 /130 /5 /l65 /| ™6, [12 /]178 /1120 /|162,/30 5 /165 /| M6, |12 /|65 1 /f2o S0 /5 7 /[vexizs 7
8 8 3-1/2" to 4" 579 472~ 265 003 451 118 472| A8 620 626 (k2| 47| 101|472 438 As 26[(FE a7 /6 1.57| 063 051 081 T o s67),/ a72| /118 /020 /028 -
C5 C6



ESTAUFF Clamps - Standard Series (for 0.D. 6 to 102 mm) ESTAUFF Clamps - Standard Series (for 0.D. 6 to 102 mm)

DIMENSIONS - COMPONENTS according to DIN 3015, Part 1 DIMENSIONS - COMPONENTS according to DIN 3015, Part 1
Material & Surface Clamp Body Single Elongated INSERT HEX | SOCKET |SLOTTED STACKING SAFETY SAFETY MOUNTING HEXAGON
Finishing of Metal consisting of two Weld Plate Weld Plate BOLT CAP HEAD BOLT WASHER| LOCKING PLATE RAIL RAIL NUT
Parts clamp halves SP SPV SCREW | SCREW
E ASE IS L AF | SIG TS SM
L1 N (@)
carbon steel St37, W1 ) g - 2.
untreated 7 ‘ S >
(4] - N
| = S & B1 =
» ] e s — ) N -
carbon steel St37, w2 { - r Fs har ] < '/ M ]l o B2 |, (-[U)
phosphated } [] — N —
] [ o - & <
Hlls [LB | o = = L 3
carbon steel St37, il
. G 1 TS 11
zinc plated w3 10 L2 Group 1 H|.lS B roup
Group 1 Group 1
stainless steel A2 - B1
1.4301/1.4305 W4 a ”
(AISI304) o s o %)
\Of © 4 =i
stainless steel A4 - . &> =1 7\ S
1.4401/1.4571 W5 l I , — ¥ c sw TS 14
(AISI316/316Ti) w 3 A\ — ol o »ﬁf
o o PR | B :
. . | — = { o, B1
Alternative materials and A a0 O A D2 n il x B2
surface finishings in addition b i '/ g M o - »
to the above stated standard L2 1 @ H & iH T . N = = E’F — ~Ty
are available upon request. I | - - Z’e :@:j N =) ® T
L1 H| LS B LS |.B < G | e s G =} L o L
Group 1A -8 Group 1A -8 Group 1A -8 Group 1A -8 TS 30
Material & Surface SEE COMPONENT STEEL /
Finishing Code PART IDENTIFICATION w2 w2 PLASTIC W3 | ws | w3 w3 w3 w3 w1 w3
Inside Surface
E% g OUT?;:EE mm\fTER profed th Di [ D2 | H GxL | GxL | GxL G |L1|L2|w3|sw| op | L |B1|B2|s |B1|B2|s |L1|L2|B|sS |@D
29 >0 L1 | L2 H S H |Width|L1 |L2| B | S | H oD|L1|L2|L3|B|S |H oD1|0D2
"7,0 Eg g mm = mm = mm - mm ~ mm - mm ~ m = Im = imi - imi - im = G im = im = im = im = im - Im = im = G im 2 imi ” mm = mm, = mm ~ mm - mm - mm - mm - Im “ im - imi “ imi “ mm - mm, ~ mm, ~ mm, ~ imm, ~ mm ~ mm ~ imm ~ mm, ” mm, - mm, ” imm, ~ imm -
D1 in n in in in in in n in in in in in in n in in in in in in in in n in n in in n in in in in| in in in in in in in in in in in
28 95 /27 04 /26 30 31,5//10 /30 /3 /|65 M6 12 /58 /245/44 /30 /|3 /16,5 M6 12 /|6,5 118165 [78(©8) [M6x27 /|M6Xx20 /|M6X20 /|M6 34 fl2o 12 /|11 /64 16 /|2 /|12 /)1 28 |11 2 255(10,2] 13,5(55 |12
min. s : min,,
1 0 610 12 mm 1/4 174 860
1/4" to 1/2" 20 20 1/4- 1/4- 1/4-
UNC UNC! 20UNC 20UNC 20UNC 1/4- 047
1.10// 0.37|// 1.06// 0.02// 1.02|/ 1.18|/1.24//0.39|/1.18//0.12|/0.26| 0.47|/2.28|/0.96//1.73|/1.18//0.12//0.26 0.47|/0.26] x1-5/8 x3/4 x3/4 20UNC |/ ---|/0.79|/ min.|/0.43 063|/ 1.26|/ 044 |/ 0.04
37 /20 /27 /04 /26 /30 /|36 /20 /30 /3 /b5 12 /64 /20 /50 /30 /3 /65 12 /65 M6x27 /IM6x20 /IMBx20 /|V6 34 20 12 1 B’ [ 12 /1
min. M6, Me, min,,
1A 1 6 to 12 mm 1/4- 1/4-
1/4" to 1/2" 20 20 1/4- 1/4- 1/4-
UNC UNC! 20UNC 20UNC 20UNC 1/4- e
1.46// 0.79|/ 1.06/ 0.02)/ 1.02// 1.18)/1.41|/0.79|/1.18}/0.12//0.26 0.47|/2.52(/0.79//1.97|/1.18|/0.12//0.26) .47|/0.26) x 1-5/8 x3/4 x 3/4 20UNC |/ - - -|/0.79|/ min.|/0.43 1.30|/ 1.10|/ 0.44|/ 0.04
42 /26 /33 /o6 /2 /30 /|42 /26 /|30 /3 /|65 12 70 /26 56 /30 /3 /b5 12 165 M6x32 /IM6x25 /IMBx25 /|M6 w0 fls 12 1 39 |28 /|12 /1
min. M, M6, min,
1/4- 1/4-
2 2 12,7 to 18 mm 20 20
1/2" to 5/8" UNC UNC! 1/4- 1/4- 1/4-
20UNC 20UNC 20UNC 1/4- 047
1.65// 1.02/ 1.30// 0.02|/ 1.26|/ 1.18|/1.65|/1.02//1.18]/0.12|/0.26| 0.47|/2.76|/1.02|/2.20//1.18}/0.12//0.26 0.47|/0.26| x1-3/8 x1 x1 20UNC |/ ---|/0.98|/ min.|/0.43 154|/ 1.10|/ 044/ 0.04
50 33 36 06 /[355 /|30 50 /[83 /80 /3 /6,5 12 /78 /33 /64 /30 /|3 /16,5 12 /6,5 M6x35 /|M6x30 /|M6x30 /|M6 44 f130 /{12 /|11 47 fl2s /|12 /|1
min. M6, Ms, min,
3 3 19 to 25,4 mm 1/4- 1/4-
3/4" to 1" 20 20 1/4- 1/4- 1/4-
UNGC UNC 20UNC 20UNC 20UNC 1/4- b
1.97|/ 1.30// 1.42/ 0.02/ 1.40/ 1.18//1.97|/1.30//1.18|/0.12//0.26 0.47|/3.07|/1.30//2.52//1.18/0.12//0.26 .47]/0.26) x1-3/8 x1-1/8 x1-1/8 20UNC |/ ---[/1.18|/ min.|/0.43 185/ 1.10(/ 044|/ 0.04
59 40 42 06 /41,5 /30 60 /40 /30 /3 /65 12 /87 /140 /[73 /|30 /I3 /|6,5 12 /6,5 M6ex42 /IM6x35 /IM6x35 /|M6 49 /35 [l12 []11 56 /|2 /]112 /|1
min. Me, Me, min,,
4 4 26,9 to 30 mm 1/4- 1/4-
1-1/16" to 1-3/16" 20 20 1/4- 1/4- 1/4-
UNG UNG 20UNC 20UNC 20UNC 1/4- oar
232/ 157|/ 1.65// 0.02/ 1.63/ 1.18//2.36//1.57|/1.18//0.12|/0.26) 0.47|/3.43|/1.57|/2.87|/1.18//0.12//0.26 0.47|/0.26] x1-5/8 x1-3/8 x1-3/8 20UNC |/ ---|/1.38|/ min.|/0.43 220|/ 1.10|/ 044/ 0.04
5 5 32 to 42 mm 71 52 8 0,8 mn. /56,5 30 71 52 30 3 6,5 !1\92 12 100 /|52 86 30 13 16,5 wg—, 12 6,5 M6 x5 M6 x 5 M6 x 5 M6 64 50 ;1“% 11 69 28 1.2 /|1
1-1/4" to 1-5/8" 20 20 1/4- 14 14 14 Lar
280 / 205/ 228 /" o 229 /" 1.18| /280| /2.05| /1.18| /0.12] /0.26] UNC | /047 /3.94| /205 /3.39| /1.18] /0.12] /0.26| UNC | /0.47| /0.26 Z0UNCx 238 20UNCx2 20UNCx2 aune | /| /o7 |/ i /043 272|/1.10|/0.44 /004
86 66 66 08m. /64,5 /|30 88 /66 /30 /I3 /6,5 12 /115/66 /|100 /|30 /I3 /|6,5 12 /6,5 M6x65 /IM6x60 /|M6x60 /|M6 74 [leo /|12 /|11 85 /les /112 /|1
M6, M6, 0.31 min,
6 6 44,5 to 50,8 mm 1/4- 1/4- Steel
1-3/4" to 2" 20 20 031 1/4- 1/4- 14
UNC UNC! 045! 026 i st| 20UNC 20UNC 20UNC 1/4- 047
3.39/ 260/ 260/ 0.03/ 253/ 1.18|/3.46//2.60//1.18//0.12|/0.26) 0.47|/4.53|/2.60//3.94//1.18//0.12//0.26 0.47|/0.26] g - lastc x2-3/4 x2-1/2 x2-1/2 20UNC |/ - - -|/2.36 |/ min.|/0.43 3.35|/ 1.10|/ 044/ 0.04
™ & /|12 /|1 112
. . 57210761 mm |2 /P 93 08w /|92 30 122 /o4 /30 /5 /65 /e iz /w0 Jlea /lid /30 Jls /165 ng; 12 /65 M6 x 9 —|ve %9 2 117 /|28 1
2-1/4" to 3" 476/ 370/ 366, 003/ 362/ 1.8 /480 /3.70,/1.18 /020| /0.26| UNG |, /047] /591|, /70|, /5.351,/1.18] /0.20] /0.26| NG | f0.47] f0.26 20UNCx 4 NCx 355 qia20une |/ __| /33| /o | /0.43 461|/1.10 /044 /004
88,9t0 102 mm [147 120 _~J118_~[ogm, "[116 ~Js0 148 /1120 /130 /15 65 /| M6, [12 /1178 /|120 /162 130 /5 /165 /| M6, |12 /I65 L M6 x 11 M6 124 /110 /|2 /|11 143 /o8 /112 /|1
8 8 3-1/2" to 4" 5.79 " 472| " 4s 0 451 118|583 /472 i8] 620 G20 [FE0| Baz 401| A2 118 620 6.26[ (¥ 2| .47 /6. T e e T azounc |- - 87| £4a 025 | £l 410l 6aal 60al 1-10| 0-43( 0.08]1.00{0.40(0.53] 0.22| 0.47

C5 Cc7





